Advanced Algebra

Unit 7 Probability- Assignment #2

1) You spin a die and a coin. Make a list of the outcomes

2} You spin 2 dice. Make a list of the outcomes

3) Suppose you are playing a board game for which you need to roil a 6 on a dies before you can star,

playing the game....

a) Do this experiment 20 times on your calculator. Math PRB #5 { 1,6)
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Check with 3 other people and see how many times they were able to start the game

Write them down hgre . 9 (0 5

b) If you rolled the die 20 times show how you would find the expected value for the numhbe
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c} How does this match your experiment?

@Show how the theoretical probability and the experimental probability relate by using your
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experiment and dividing by the number of trials and what you know the theoretical probability is of a
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I can find probabilities:

4) Each day in class your teacher randomly calls on 5 students in your class of 30 students. What is the
probability you will be called on today? A

b) If 2.5% of items produced are c_iefective, then what is the probability that a randomly selected item

will not be defective? _ _ l! :Xﬁ
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c} What is the probability that the f fwo tossed dice willnotbea 6? .

5) For the fcﬂlowing guestions youa

olling 2 die. The roll {1,5) is different from a (5,1). Find the
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a u ‘ ll \ . 1 3 7 ] ] } @ (D) /

B 1 4,71 3,2
a) The dice sumto S 3 . i:% | 1:"5 .3 S;Z, G} .
bthe dicesumto® 50 N @t 3y 4y gy 6s

c) The dice have a difference of 1 JB/(_a N %_7 3; > LA S, 5 A y
d) The sum of the dice is 6 and the difference is 2. This would be underlining and circling™ b ’
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